Warm-Up Name:
1) Simplify. 2(5)-3(1+2)+ (4)2 2) Evaluate. f (n; =1-2n
. 2('5) "3(’53 * (;{g )= ",3 f(=5) = I
2(8)-3D x : 1200) =1-2(-%)
i et et = 1-4 = 1- (o)
| +1G f
3) Detengl‘n?f each sequence is arithmetic, geometric, or neither.
a) 7’.;-‘!5. 10, 115.13. . Geometric Neither
b) 3 1 33 Arithmetic Geometric
9 721 52'3 267 Arithmetic Neither
-5 .5 -
d) 9, 4’3{_—6 -11,. @ Geometric Neither
e) 200, 106}6%: Arithmetic Neither
4) Use each equation to find the first three terms of each sequence.
> D \s+ el
a) f(n) =4n+1 b) f(l) — i é— Z(?NVM‘%"\)
fM=2f(n-1)
= Sl 13 RE 22
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5) Describe visually how the pattern grows. Then make a table and graph. Be sure to label your axes!
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